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@ tanx = DE @ siny=AB ® tany =

@ sinz = AB 3 cosz = BC
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@ sin50° = CD @ cos50° = OD

@ cos40° = CD ® sin40° = OD

@ tan50° = CD
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@ sin45° = cos45°

@ cos48° > cos38°
@ tan35° < tan40°® @ sin37° < cos37°
B sin56° < cos 56 °



@ sin30° < cos30°
© tan35° > tan40°

@ sinbH4° < coshH4°

© sin37° < cos37°

® sin36° > cos36°
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e y = sin® x - 2sinx + 2 ©] FAG} 2727 (F, 0° < x < 90°
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® 50 (5in30° + sin45°) m @ 50 (tan30° + tan45°) m

® 50 (cos30° + cos45 °) m @ 50 (sin30° + tan45°) m

® 50 (cos30° + tan45°) m
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